20234EEETRE) B &

(& & Ek2)

BPI=FITEES
B e H EBNAE =% 2N
4 RN 4R A B, 6 A BlENEMHER TR 9
5 1|14 S5H B, 6 AFIE ., TH JEFEGIS N AR TR 6
6 8]k 6 H B>, 7H EFGI2 . 8 Bl NATER TERITT 6
7 RN 7THEFEHI, 8 A Bil%. 9 A Bl N AR TR 6
8 3R 8H B2 kit Faoicn 4
9 6|k 9H Bz, 10H il 11 H FIESNEHER FROEEH 7
10 3|k 10H fil2x. 11 B fil2x. 12 B fla AR TERIZT 3
10 31k 11LA I, 123 5F412, 1A BlSNE R TERITT 7
12 5|k 12H SEFI2. LA B2, 28 BlaNARER TERTZT 5
1 9|k LA B2, 2H B2, 3R Bl NARER N 3
2 6):k 2HBI%, 3A %, 4 A SN AR TR/ 7
3 1|k 3AMIZ, 4R ¥, 5 H BN iR TERITT 8
A BRERS
Bk H TEENE =8 BN
4 74 VEMOITEN T &, S 6 A FlSIz o T Ty—7 6
5 12|14 Ry N JERTEE), IRIEE), 6 H il LuE 7
6 10|+ Ry N JERTEE), IRHIEE), 6 H il TFROXAE 9
7 7|4 Aoy M JERIES), N EIEE), 9 A il TV —T 10
8 5|4 RIS, 9 A il Ty—7 10
9 8|4 9H FlE, U N—T ARG, LRIEE TR HEH6 15
10 6|4 12 A SAEE2 | JERIGE), RIS HE) TV —T 10
11 9|k 12 A SEF2 JERIGE), RIS, 77 TV —T 9
12 1|14 12 A RERIS, TT3 PERIER), LG E) TV —T 9
1 9]k PERIEE), RHIEE), AR BA V=7 —ay TP —F 6
2 7|7k PERIGE), INRISE), A EA V=7 —ay Ty —7 8
3 1|4 WAEREIZOWT R, V=T —vay IBReSe=y: 20
WEEER
Bk H WENA =% 20
4 4 ok |2FEZEESZERITONT FReEMA EEEEE 9
4 24 A |2EZESAN—HEHAEDYE Beks 1256% 10
6 6] Kk |FAITEHE -HEBISIZONT IFREMA AEFEE 8
7 4] ko |WIERBISERB IO R I—bray? BLPBBQY 10
8 1|k [EGISHEGE - 2REE T+ —TF AN T FReEnA EEREE 4
9 5| ok |IXVUTHEEB - RERE T —TLIONT MRS HisH= 8
10 5| A |IERVUTHEEB -2 LA ESHEICONT TR HiAsm= 7
10 24|k |EERETZA—TLFHT XY ITHEIIONT TR HiAsm= 13
12 5| ok [THEMFIZICONT TR HiAsm= 8
1 23]k [IAEYEpIERES BEA XLo 6
2 6] K |EEZESIFENZOWVT FReEnA B E 7
3 6] K |23FEERIEY KBS Eo P ARyl 7




(@ & Ek2)

20234EEETRE) B &

FEEE
BifeE A BN = 2N
4 267k 1Rl 5 BN FROEAE 17
5 24|k H2lE TSRS AVRAA FROEAE 15
6 287k M RS KRR JFROEAE 21
7 267k AR FAEE EURAET L RO HH 21
8 23|k FoEl FEE Su—sYL AR TR 13
9 27|k BTlE F5E SWOT/Hr1 (BRest=3:] 21
10 25|k TR F5E SWOT/HHT2 (BRest=3:] 15
11 29|k HelEl FAEE vHTTFr—h RO 12
12 20[7k FolEl FAEE BES e kLo 10
1 247k B0 E5e AMBE R NS E JFROEAE 8
2 287k FlE R RYIKY TR 10
3 27[7k F12F] FAEAE RABBS Wi IEA 215 10
HER
Bt H TEBNA = 29l |
5 8| Kk |[FHEREESOIEHAFIZONT 700M 6
6 8| A [ZCHHALEIZ DWW T ZOOM 6
7 5 & [BCERERIECEIZ DUV T ZOOM 6
8 2| &k [BHRHAEEIZ DOV THR ZOOM 6
9 6| &k |SCEREBIRISOEIZ DWW TR ZOOM 6
10 4 K EERAE, BERFRRIZONT BT —TFTARXEHF +7Z00M 6
11 1 A& [ESEROKIE, BERFRSIZONWT BT —TTARXEHF +7Z00M 6
12 6] K [SEIRALIE, BERFRSIZONT ZOOM 6
1 7]k PREERSEBHEMIZOWT ZOOM 6
2 71k |REERSERHERIZDOWNT ZOOM 6
3 6| & PREERSEEMERIZOWT ZOOM 5
EFIRE =
A H IHEINEE =Y SN
4 18]k LBV =ES KR FEH R & ZOOM 13
5 16]:k F2RERIE S R R & ZOOM 13
6| 20|k FIEERIE B KERFEH R & ZOOM 13
7 18]k FARIERIE B KERFEH R & ZOOM 13
8 22|k ”’“5@&%%&%% R R & ZOOM 13
9 19]:k HeREFIE B KERFEH R & ZOOM 13
10 17|k FIEEFIR B S SRS R & ZOOM 13
11 14|k FEREIEHI B2 KEREH R & ZOOM 13
12 19]k FORIEFI B2 R FEH R & ZOOM 13
1 16]k F10EEFIR S KR FEH R & ZOOM 13
2 20[k FLEEFEES KR FEH R & ZOOM 13
3 19]:k F 12 ERIR AR FXIFHHIEA 13




